JEHNSON

CONTRELS

Pneumatic Control Manual 717.1
Room Devices Section
Product/Technical Bulletin  T-4000-A.9
Issue Date 0495

T-4002-301 (D.A.) and T-4002-302 (R.A.) Thermostat
with White Cover and Two Pipe Conversion Kits

The T-4002-301 Direct Acting (D.A.) and the
T-4002-302 Reverse Acting (R.A.) Thermostat with
White Cover and Two Pipe Conversion Kits are

designed for converting existing non-Johnson Controls

single temperature room instruments.

Table 1: Contents of Kit

Qty

Description - Packages and Parts

1

Room Instrument - contains:
(1) Room Thermostat (D.A.) or (R.A.)

Instrument Cover - contains:
(1) Cover

Faceplates and Dial Label - contains:

(1) Faceplate - Blank, (1) Faceplate - Horizontal with Logo,
(1) Faceplate - Horizontal, No Thermometer Single
Window, (1) Faceplate - Vertical with Logo,

(1) Dial Strip - Vertical, Right, and (1) Window

Cover Plate/Subplate - contains:

(1) Cover Plate with Room Instrument Mounting Bracket
attached by (2) No. 6 x 3/8 in. pan head self-tapping
screws, (1) Subplate and (2) No. 6-32 x 5/8 in. pan head
taptite screws to mount cover plate to subplate.

Terminal Connector and Tubing - contains:

(1) Terminal Connector (2-tube with angle terminals and
O-rings assembled) and (2) 8 in. lengths of 5/32 in. O.D.
(black) polyethylene tubing with anti-kink springs attached.

Adjustable Pipehead - contains:
(1) Adapter Plate, (5) No. 8 flat round washers, and
(3) flat round washer gaskets.

Tube Couplings and Clamps - contains:
(2) 5/32 in. x 5/32 in. tubing couplers, (2) 5/32 in. x 1/4 in.
tubing couplers and (2) 5/32 in. tube clamps.

Mounting Hardware - contains:

(2) No. 4-40 x 1-5/8 in. pan head machine screws,

(2) No. 5-40 x 3/4 in. studs, (4) No. 5-40 hex nuts,

(2) No. 5-40 x 1-1/4 in. pan head machine screws,

(2) No. 6 x 7/8 in. pan head self-tapping screws,

(2 ea.) No. 6-32 x 7/16 in., (2 ea.) No. 6-32 x 1-1/4 in., and
(2 ea.) No. 6-32 x 2 in. pan head machine screws,

(2) No. 6 x 1-3/4 in. pan head self-tapping screws,

(2) No. 6 star washers, (1) No. 8 x 1-3/4 in. pan head self-
tapping screw, (2) No. 8-32 x 1-3/4 in. pan head machine
screws, (2) No. 10-24 x 1-1/2 in. pan head machine
screws, and (2) No. 10 star washers.

Each kit contains (refer to Table 1) the necessary
parts and instructions for converting two pipe existing
instruments (all leftover or unused parts should be
discarded).

Refer to Table 2 for a listing of all known non-Johnson
Controls conversions.

| 1 | Instruction Sheet Part No. 24-1855-13, Rev. -

© 1995 Johnson Controls, Inc.
Part No. 24-1855-13, Rev. —
Code No. LIT-7171090



Table 2: Non-Johnson Controls
Conversions

Existing Installation for Conversion Page

Barber-Colman “TK” Series or “TKR” Series
Wallbox and Mortar Joint

Honeywell TO900 or TP900 Series Wallbox 7
Honeywell TO910 or TP910 Series Wallbox and

Mortar Joint /8
Honeywell TP970 Series Shallow and Deep 8
Wallboxes

Landis & Gyr Powers TH832 “D” Series Wallbox and
Ground Plate 8,9
Landis & Gyr Powers T-21 Series Ground Plate, 9
Wallbox and Mortar Joint

Landis & Gyr Powers TH 180 Series Wallbox and 10
Drywall Mounting

Landis & Gyr Powers TH-192 Series Wallbox and

Drywall Mounting -
Robertshaw T-15 (Metal) Early Wallbox and 10 11

Mortar Joint
Robertshaw T-15 Later Wallbox and Mortar Joint 10,11
Robertshaw 2212 Series --

Robertshaw T-18 (Plastic) Drywall Mounting 11
Draeger (ITT/Essen/Johnson Controls) Wallbox 11
UPC 11

2 Room Devices—T-4000-A.9 Product/Technical Bulletin



S ubplate and Cover Plate with

Instrument Mounting Bracket

The subplate furnished with this kit is designed with
specific pairs of slots and holes for attaching it to the
existing installation wall, wallbox or mortar joint.

Holes are also provided for attaching the plastic cover
plate and guard kit (if required).

The plastic cover plate is furnished with the room
instrument mounting bracket attached as shown.
Generally, the new room instrument is mounted in the
same horizontal or vertical position as the existing
instrument to be converted. Thus, the bracket can be
detached and rotated 90° for alternate horizontal and
vertical mounting positions as shown.

The plastic back is also marked on the reverse side
with hole locations for mounting guard kits (when
required) as shown.

R oom Instrument Mounting Bracket and

Terminal Connector

The room instrument mounting bracket is designed to
accept the snap-in terminal connector as shown.
Follow the orientation markings on both the bracket
and the terminal connector when installing. The
Johnson Controls pneumatic room instrument is
furnished with barbed type air terminals which plug
directly into the terminal connector.

Subplate .

Holes and slots 1-17 are used for Cover Plate ;

attaching to installation site, the . . Cover Plate (Rear View)

T-holes are used for attaching Room instrument mounting bracket Four pairs of holes marked H
cover plate and room instrument attached with (2) No. 6 x 3/8 in. and V for drilling through to mount
mounting bracket and G-holes for self-tapping screws (detach and guard.

guard mounting. ;
requirements).

S

T-4002-3001 T-4002-3004
Wire Guard Cast Guard

rotate 90° for alternate mounting

Converted Installations
(Above and Below)

Horizontal Mounting (left) and Vertical Mounting (right).
Note: Upper right and lower left views with alternate
bracket mounting positions.

Snap-In Terminal Connector
Place top end into bracket first and press
bottom end down to snap into bracket.

Room Devices—T-4000-A.9 Product/Technical Bulletin 3




P rocedures for Conversion

The following illustrations show various installation
situations, air connection alterations, and subplate
adaptations. Refer to page 12 for the cover plate and
Johnson Controls replacement instrument mounting
details.

Basic Steps of Installation:

1. Mount the subplate.

Install the pipehead and attach the tubing.
Install the cover plate.

Install the thermostat, calibrate if required.

ok D

Install the cover and faceplate.

Installing Thermostat Cover Faceplate without
Window

Peel off the protective backing and the clear face
covering on the desired faceplate without window, and
install as illustrated in Figure 1.

Installing Window and Thermostat Cover
Faceplate with Window

1. Insert the window into the lower right-hand corner
opening in the front of the thermostat cover as
illustrated in Figure 2.

2. Peel off the protective backing and the clear face
covering on the faceplate with window and secure the
window into place by installing the faceplate as
illustrated in Figure 2.

Note: The window must be inserted prior to installing
the faceplate.

Optional External Setpoint Adjustment for
Thermostat Cover with Window

If desired, the setpoint may be adjusted without removing
the cover. The breakout feature must be removed to
access the setpoint dial. To do so proceed as follows:

e Viewing the cover from the outside and using a
diagonal cutter, cut through the upper and lower
portion of the first rib located beneath the window,
remove rib and discard (refer to Figure 3). Itis
recommended that a true flush blade type tool be
used to achieve a clean cut.

e A thermostat adjustment tool (T-4000-119, ordered
separately) may be inserted through the breakout to
adjust the thermostat without removing the cover.

Dial Strip

A stick-on dial strip may be used to change the
thermostat setpoint dial from a horizontal to a vertical
orientation. If vertical instrument installation is desired,
proceed as follows:

1. Turn the setpoint dial clockwise until the stop pin
keeps it from turning any further.

2. Allowing for a 30F° setpoint span (a 15F° span on
either end of the desired setpoint), cut out the portion
of the dial strip that corresponds to the desired
setpoint.

Example: If the setpoint is 125°F, the span should

be 110 to 140F°. Refer to Figure 4.
Peel off the protective backing on the dial strip.

4. Attach the dial strip to the setpoint dial, positioning
the lowest number of the dial strip span over the
lowest number on the dial (refer to Figure 5). Turn
the dial counterclockwise while positioning the
remainder of the dial strip.

5. Calibrate the instrument if required.

4 Room Devices—T-4000-A.9 Product/Technical Bulletin



Figure 1: Installation of Thermostat Cover Faceplate without Window

Figure 2: Installation of Window and Thermostat Cover Faceplate with Window

Room Devices—T-4000-A.9 Product/Technical Bulletin 5



Figure 3: Removal of Breakout Feature for External Setpoint Adjustment

Peel Off
Protective Backing

U R R I A |
°F 0 5 10 15 20 25 30 35 40 45 50 55 60 65 70 75 80 85 90 95 100 105 110 115 120 125 130 135 140 145 150

Figure 4: Dial Strip

e I -]
©

) 1
[

{
!
;

Co SO ‘
10\\mmuwummwmmwmuu ‘
5710115 120 125 130 135 140 145 150

Figure 5: Applying Dial Strip to Setpoint Dial

6 Room Devices—T-4000-A.9 Product/Technical Bulletin



Barber-Colman TK-Series

N on-Johnson Controls Installations Subplate for Mortar JointSubplatefor Wallboxes
(Refer to Table 2) (See note.) (See note.)

Be sure to obtain a guard kit if required, before
proceeding with the conversion.

SUPPLY 0-RINGS {TROL
(LEFT) AGHT)

#5-32 TAPPED ' LES (2)
(RIGHT AND N

Note: Attach subplate with
(2) No. 6-32 x 1-1/4 in. screws
with star washers in Slots 8
and 10 for mortar joint and
Mortar Joint Slot 4 and Hole 14 for
wallboxes. Refer to page 12
for the cover plate and
Johnson Controls replacemen
CONTRDL\\” instrument mounting details.

SUPPLY

Wallboxes

HOTE: SLIDE TURING
WITH SPRING A5 FAR
A3 FOSSIBLE INTO

{-RINGS
#6-32 TAPPED HOLES (2) 16-32 THEPED HOLES TIT—
(36P AD BOTTQH) CTOR 4T BOTTOH)
SUPPLY CONTROL LY
hoto (39% ) (BLAGK TUBE I LEFTY' 7 GHITE TE Oy it oy ey gmigms o
Insert T-5-A11 Photo (39% e

REGHT)

Adapt terminal connector to wallboxes above with

5/32 x 5/32 in. fittings.

Room Devices—T-4000-A.9 Product/Technical Bulletin 7



Cover

Exposed Tubing Unit

SUPPLY (LEFT) /SERDRRY BRACA
wrorwo e N o 4
A

i~ ERANCH OR CONTROL (RIGHT) 047 OFF PIFEFERD

Honeywell TO900 OR TP900 Series

Wallbox

SpeLY (T

RACH OR CATAIL (RIGD

LRGICE OF LORTRIL <RI64TY

\
DISCARD EVERYTHING-BELDW & %
THIS LINE 1

NOTE: TREAT THE COMVERSIOH /g

IS DESCRIBED UNDER THE

EXPOSED TUBING SECTION

Subplate (See note.)

Cover

SUpRLY GRARCH OR CONTROL

(LEFT) | # CRTEHTY
| 1 CUT QFF AND DETACH AN

BISCARD CVERYTHING BELDY
THIS LLHE

NOTE: TREAT THE CONVERSTOR
AS DESCRIBED UKDER THE
EXPOSED TUBING SECTION

Exposed Tubing Unit

A0 DISCARD

UTE: SECDVDARY SRR LIBE
AL ALAAYS BE POSTTIONED

Note: Attach subplate TETHEE) THE SUPPLY 41D COTRL

to wallbox with
(2) No. 6-32 x 1-1/4 in.

W o S 0 ik
by Bl S 06 0y o

SLPALY (LEFT),

FURRSHED WiTH KIT

ORVERSTON
TRY ALREALY N Loz B,
RU3BER TUBIHG TASTrAn
OF COPPZR, (F 30, i
THE 24 3 5/32 T InG
AATTATICH DIRRC;LY 10
VIE RUEBER TUR G

IEKH. AL CORNECTOR

2 X832 I

Optional Terminal

screws with star _— - i
washers in Slot 1 and i M Connector
Hole 16. Refer to Adaptation for

page 12 for the cover i

165
plate and Johnson R
Controls replacement inal
instrument mounting Termina
details Connector
Adaptation

Rubber Tubing

Honeywell TO910 OR TP910 Series

S0 3-PIPE PIPHIEAES (WD)

SECOUMARY BRAEH
SHERLY ’( BRAACH OR COITREL
(RED TREING, (RLALK THBE)

S5 TR WL )
(EEFT A0 RIGHE Th
TS RN N

| VALLEGK NAUATIRG JOLER

440 R ATTACHENT
SERERS {2 4630
HETING RING H0TAIES T
ALLOH PROPER STAT ALAGIEN
WiTH FORLBISG LHES
HOTE: SETATH RIMG 1F
STTACHENT SRS ARE. T
SROPERLY ALEGHED HOREZONTALLY
0% WRTTCALY

Wallbox with
Mounting Ring

FOR 3-PTFE PIPEHEADS (ONLY}
SECOKDARY BRANCH

ERAREH OR CORTROL
LackTone

SPPLY
(RED TUBE)

wh-52 1APPED HOLES (2}
{RIGHT AND LEFT)

HOTE: TRO TAPRED HOLES CAW BE USCD
FOR CONVERSTON BHD RING CAw BE
DUSCARDED OHLY JF HOLES 13 NALIDOX
ARE [N PROPER ALIGHMERT NITH
BUILDING LIMES

Wallbox with Mounting
Ring Discarded

—

Adapt terminal connector to
wallboxes above with 5/32 x 5/32 in.
fittings.

8 Room Devices—T-4000-A.9 Product/Technical Bulletin



BRANCH OF CONTROL

{RIGHT)

#6=32 TAPPED HOLES (2)
(RIGHT AHD LEFT)

"7 FOR 3-PIPE PIFEHEADS (OHLYY
SECOMDARY BRANCH

SUPPLY

CLEFT) Y -O-RINGS

Mortar Joint

Note: Refer to page 12 for
adapter cover plate and
Johnson Controls
replacement instrument
mounting details.

Cover

(Also available in

horizontal mounting style.)
#6-31 TAPPED ROLES (D)

Z CTOP- AKD BOTTOMY
| -

533 1
POLYETEYLERE
TURES

Shallow Wallbox

#6-32 TAPPED HOLES (2}
(T0P AND BOTTOM)

2432 Ifl. POLY-
ETHYLERE TUBING

Deep Wallbox

Cover

CUN‘TRUL\
LI

SUPPLY]

HOTE: SLIDE TUBTRG
WITH SPRING AS FAR

A3 FOSBIBLE INTO
£-RINES

Plug terminal connector leads
into O-rings of mortar joint as
shown above.

Use (2)

No. 6-32 x
1-1/4 in.
stcrews with
| star washers
in Slots 8
and 10.

Subplate for
Mortar Joint or
Wallbox less
Mounting Ring

Subplate

for Wallbox

with Use 2

. se

M_ountlng No. 6.32 x

Ring 7/16 in.
screws with
star washers
in Slots 7
and 10.

Honeywell TP970 Series

Adapt terminal connector
to wallboxes on left with
5/32 x 5/32

fittings.

—

Note: Mount subplate tc
either wallbox using (2)
No. 6-32 x 1-1/4 in. or
7/8 in. screws with star
washers in Slots 7 and
10. Referto

page 12 for cover plate
and Johnson Controls
replacement instrument
mounting details.

Subplate
(See note.)

Powers TH-832 “D" Series

FOR 3-PIPE PIPEHEADS (ALY}
SECONDARY BRAHCH (PISETIOHED
IK BETHEEW)

BRANCH OR COHTROL
{RLGHT)

SURPLY (LEFT)
NOTE: REMOVE PIN
VALVE BEFORE
HOUNTTHG AR
FITTIHGS.

MAKE SURE BASKET
1S REMOVED AND
SURFACE IS CLEAH
BEFORE ADAPTING
CONVERSIDN AIR

GLTTNGS SLOT FOR 43 OF #1D

SHEET HETAL SCREW

Groundplate

i 5-32 TAPPED HOLES (2
1 PIPEHEAD (LEFT AHD
RIGHD:

FOR 3-PIPE PIPEHEADS {ONLY}
SECONDARY BRAHCH

SUPPLY (LEFT}
NOTE: REMOYE PIH

VALVE EEFORE (POSITIONED 1N BETWEEW)
HOUNTING AIR DBRANCH OR COWTROL
FITTINGS. {RIGHT)

# ©-32 TAPPED HOLES(2)
14 PIPEREAD (LEFT AND
RIGHTY =

HAKE SURE GASYET 1S
REMOVED AND SURFACE
IS CLEAN BEFORE AD-
APTING CONVERSION

AIR FITTIHGS W 10-24 TAPPED HOLES(2)

| (BOTTON AND TOP)

Wallbox

Room Devices—T-4000-A.9 Product/Technical Bulletin



RUBEER WASHER BASKETS
AND FLAT WASHERS{Z EA.)

ADJUSTABLE ATR
FITTHING PLATE

4632 SCOEWS AND
" WASHERSC BR.D

Make terminal connector
adaptation with adjustable
pipehead for groundplate or
wallbox installations.

A1Subplate
1] (See note

)

Powers TH382 “D” Series (Cont.)

FOMERS KODERNIZER MR FIVTIRG

SHPPLY BNAPTED T0 PIPEHEAD

LEFTY N,

TRAHCH OF CORTROL
(RTEHTY

CUT OFF &HD D15CRED
TURENG BELOW THIS LIAE
WOTE: MAKE ADAPTATION TO
TERHINAL COHRECTOR WITH
/32 % 5/32 FITTINGS

Adapt Terminal Connector
leads to tubing on groundplate
with modernized air fitting
using 5/32 x 5/32 in. fittings.
Groundplate with
Modernized Air-fitting
Adapted

”~

Note: On groundplate, mount subplate with
(1) No. 10-24 x 1-1/2 in. screw with star
washer in Slot 6 and (1) No. 8 sheet metal
screw with star washer in Holel7.

On wallbox, mount subplate with

(2) No. 10-24 x 1-1/2 in. screws with star
washers in Slot 6 and Hole 17. Refer to
page 12 for cover plate and Johnson Controls
replacement instrument mounting details.

Powers T-21 Series

ROTE: CUT 5/32 TUBING AT A 450 ANGLE
BEFORE THSERTING INTO O-RINGS. LSO,
TT MY BE HECESSARY TO MOISTER TUBING
TO FACILITATE INSERTION INTO ©-RINBS.
COHTROL

Subplate
(See note.)

SUEPPLY

Note: On groundplate, mount subplate with
(2) No.6 x 1-1/2 in. sheet metal screws with star
washers in Slots 7 and 10. On wallbox or mortar

joint, mount subplate with (2) No. 4-40 x 1-5/8 in.

Refer to page 12 for the cover plate and Johnson
Controls replacement instrument mounting detail.

SUPPLY CONTROL
{RIGHT}

| 0K GROUND FLATE 2 HOLES SUPPLY CONTROL

N FOit # SHEET FETAL SCREWS (LEFT) (RIGHT)

| (RAGHE AMD LEFT)
. O WALLBOX 2 TAPPED HOLER
FOR #0400 SCREWS (REGHT
£3D LEFT

HOTE: INTEGRAL STEFL
BALL CHECK VALVE SEAES
SUPPLY WHEW LHSTRUMEHE

PLASTIC PIPEHEAD EXTENSION
#4-40 TAPPED HOLES (2)

machine screws with star washers in Slots 7 and0.

Plug terminal connector leads into
O-rings of groundplate, wallbox, or
mortar joint pipehead.

[5 REMOVED

Groundplate or Wallbox

(RIGHT AND LEFT)

Mortar Joint

10 Room Devices—T-4000-A.9 Product/Technical Bulletin



Cover

Powers TH-180

#5372 TAPPED H[)LES
TALL 4 CDRMERS)

SUPPLY (LEFT OR
BOTTON WHEH ROX
15 ROTATED SOD)

COT OFF AND D1SCARD
U'BING BELOW THIS LIHE
{OJE HAXE ADAPTATION

TO TERMJHAL COMRECTOR
WITH 5732 X 57352 FITTINGS

CONTRAL CRIGHT DR

SECOUBARY QR BRANCE TOP WHEM BOX 13

(HIDDLED

ROTATED 9003,

Plastic or Brick Wallbox

Adapt terminal

- . connector to
' existing tubing

with 5/32 x 5/32

fittings

Subplate
for Wallbox

(See note
below.)

Note: Mount subplate using

(2) N0.6-32 x 1-1/4 in. screws with star
washers in Hole 9 and Slot 12. Refer
to page 12 for the cover plate and
Johnson Controls replacement
instrument mounting detail.

SUPPLY
’f‘t_':cu:_m’ TUBE O RIGHTY
i g ‘f‘ #5-40 TAPPED HOLES (23
| CRIGHT AHD LEFT
A & | CUT OFF AKD DISCARD
= TUBING BELOW THES LINE

BRAHCK DR CORTROL ’h‘
LUE TUBE o LerT> 1

NOTE 1: OH 3-PIPE COMYERSIONS, TUBE POSITIONS
AND COLORS ARE: SUPPLY-CLEAR CHIDILEY

BRANCH GR GONTROL-BLUE <LEFTY AN

RESET-RED (RIGHTY

NGTE 2: CWKE TERMINAL COHNECTOR ADAPTATIONS
WITH 5/32 X 5/32 FITTINGS

Early Style Shallow or
Deep Wallbox

Drywall

HOTE 1: ON 3-PIPE INSTALLA- -
TIONS SECONDARY BRANCH 15
1N BETWEEN,

Subplate
for Drywall
(See note
left below.)

TUBE CLAMPS
(LEAYVE IN PLACED

SUPPLY
(LEFT)

CONTROL
CRIGHTY

NOTE 2: MAKE ADAPTATION TO
TERMINAL COMMECTOR WITH
5/32 X 5/32 FITTINGS

Note: Mount the subplate with two
(minimum) screws and star
washers in any pair of holes and
Slots 1 through 17. Use wall
anchors (order separately) as

Robertshaw T-15 required. Refer to page 12 for the

cover plate and Johnson Controls
replacement instrument mounting
details.

BRANCH OR CONTROL SUPPLY BRAKCH DR CONTROL SUPPLY

(BLUE TUBE O LEFT) ‘A(CLEAR TUBE 08 RIGHT) (BLIE TIEE O LEFT
(IS 4~ HoLEs @ For 46 B
gM By

HOTE L: O 3-PIPE CONVERSIONS, TUBE POSITIONS  (pronT aND LEFT)
AND COLORS ARE: SUPPLY-CLEAR (MIDDLE)
BRAHCH OR CONTROL-BLUE (LEFT) AND

RESET-RED (RIGHT)

NOTE 2: MAKE TERMINAL-COMRECTOR ADAPTATION

SHEET METAL SCREWS

WITH 5/32 X 5/32 FITTINGS

HOTE. 1: ON 3-PIPE COMVERSIONS, TUBE POSITIONS

Later Sty|e Mortar Joint AND COLORS ARE: SUPPLY-CLEAR (MIDDLE)

BRANCH OR CONTROL-BLUE (LEFT) AND
RESET-RED (RIGHT)

NOTE 2: MAKE TERMINAL CONNECTOR ADAPTATIONS
WITH 5/32 X 5/32 FITTINGS

Later Style Wallbox

Adapt terminal connector
leads to existing tubing with
5/32 x 5/32 in. fittings.

/(CLEAR TUBE 0N RIGHT!

H otz @ #or 46
» ~—SHEET HETAL SCREWS
| (RIGHT AKD LEFT)

%———{"_u CUT OFF AND DISCARD

TUBING BELOW THIS LIHE

10 Room Devices—T-4000-A.9 Product/Technical Bulletin



Robertshaw T-15 (Cont.)

MAIN OR SUPPLY
CATENLEY

BRANCH OR CONTROL ﬂr‘q RESET

(LEFT) 7 (RIGHTY

F
e, e e ey (SMORER 540 D s
IS REMOVZD ASD SURFACE Ay »

|15 CLEAN BEFORE ADRPT MG

COWVERSION AIR FITTTHGS Make terminal connector

adaptation with adjustable
pipehead on right.

Early Style Mortar Joint

[ ®

L. ]
Subplate for Later Style

Wallbox and Mortar Joint Wallboxes

Mount subplate with

(2) No. 5-40 x 1-1/4 in. screws
with star washers in Slots 8
and 10. (See note.)

Mount subplatewith

(2) No. 6 x 7/8 in. sheet
metal screws with star
washers in Slots 7 and 10.
(See note.)

Subplate for Early Style

RUBBER WASHER GASKETS __
AND FLAT HASHERS

#5-40 STUD, muT
AHD WASHER {ONE
EACH FOR BOTH SIDES)

i

Subplate for Early Style Mortar
Joints

Mount subplate over studs
and secure with No. 5 hex
nuts and star washers in
Slots 8 and 10. (See note.)

Note: Refer to page 12 for the cover plate and

Johnson Controls replacement instrument mounting details

Draeger (ITT/Essen/Johnson Controls), UPC, and Robertshaw T-18

Some of the details on the following non-Johnson
Controls instruments are not completely known.
Therefore, a definite procedure for conversion is not
provided. However, the following characteristics are
known:

On Draeger, the air lines are normally 1/4 in. O.D.
and the subplate can be mounted to the installation
site in Slot 3 and Hole 13.

On Robertshaw T-18 Plasticthe air lines are
normally 5/32 in. O.D. plastic tubing and the subplate
can be mounted to the installation site in Slots 8 and 10.

On UPC, the air lines are normally 1/4 in. O.D. plastic
tubing and the subplate can be mounted to the
installation site in Slots 8 and 10.

Draeger (ITT)

Robertshaw T-18
(Plastic)

Refer to page 12 for the cover plate and
Johnson Controls replacement instrument
mounting details.

Room Devices—T-4000-A.9 Product/Technical Bulletin 11



J

TERMINAL
CONNECTOR #6-32 X 3/8 IN,
SNAPPED INTO  SCREWS (ONE
BRACKET EACH CORNER)
< | [ rusTic
f' AL COVER
PLATE

ROOM IWSTRUMENT
MOUNTING BRACKET

P

#6-32 x 5/8 I,
TAPTITE SCREMWS (2)

Plug the Johnson Controls replacement instrument into the terminal connector.

To complete the conversion, attach the cover to the room instrument mounting bracket.

HNSON

CONTRSLS

Controls Group

507 E. Michigan Street

P.O. Box 423

Milwaukee, WI 53201

FAN 717.1

Pneumatic Control Manual

Printed in U.S.A.

12 Room Devices—T-4000-A.9 Product/Technical Bulletin



